
QUINN'S CALCULATIONS



A MATHEMATHICAL CONCEPT TO CALENDAR TIMES AND WHEN TRIBAL RITUALS SHOULD BE SUNG OR 
DANCED OR PERFORMED

THE ONLY HISTORICAL REFERENCE THAT CAN BE USED TO BEGIN WHICH CAN BE FOUND IN N.A.S.A. 
COMPUTERS, IS, THE IDES OF MARCH.

THE YEAR IS ALITTLE MORE IN DOUBT, BUT THERE ARE SOME WHO STILL GO BY THE JULIAN 
CALENDAR. SO IF l990(GREGORIAN) IS 6703(JULIAN), THAN WE ONLY HAVE TO DEDUCT 1990 FROM 6703 
WHICH EQUALS= 47l3(JULIAN). 47 FROM 4713 EQUALS= 4666(JULIAN) OR 45BC.

'THE BIOGRAPHIES’ FROM DOUBLEDAYÍS DICTIONARY ON 13.892; IT GIVES THE BIRTH AND DEATH OF 
GAIUS JULIUS CAESAR AS IOOBC. TO 44BC.

IN 'PLUTARCH, IN JUL.CAES.CAP.87; DIO CASS. XLIV.; VIRG. GEORG. I A66' IT GIVES THE DEATH OF JULIUS 
CAESAR AS 45BC.

THERE IS A DIFFERENCE OF ONE FULL YEAR

THERE COULD BE TWO DIFFERENT ARGUMENTS FOR THIS DIFFERENCE! (DGREGORIUS SUPPLEMENTUM 
HISTORIE DYNASTIARUM DID NOT USE THE ADDITIONAL YEAR NEEDED TO GO FROM JULIAN YEARS TO 
GREGORIAN YEARS. (BC.ZERO=365 DAYS; AD.ZERO=365 DAYS)

(2)DOUBLEDAY SCHOLARS WERE USING QUOTATIONS FROM HISTORICAL DOCUMENTS AND WHEN THE 
GREGORIAN WAS BROUGHT INTO USE, 1582AD., THERE WAS ONE COMPLETE YEAR DUE TO LEAP YEAR 
DAYS.

THE ADJUSTMENT FOR 12 DAYS WHEN STARTING THE GREGORIAN, WAS TO DEDUCT OVERSTATING 
TIME FROM LEAP YEAR DAYS. SO THE YEAR OF 1582 AD, HAD ONLY

353 DAYS.

TO SAY T_HE IDES OF MARCH, 44BC OR 4665 IS PRETTY CLOSE TO BEING CORRECT. SO THE JULIAN 
STARTED MARCH l5(FULL MOON) 45BC. OR 4666

4666 YEARS' JULIUS CAESAR STARTED WITH, TELLS US(BECAUSE IT STARTED FROM AN ANCIENT CALI YUG 
CALENDAR) l+TIME SERPENT, LEAVING SERPENT

ONE COMPLETE FIRST­BORN EQUATION, l/10 FIRST­BORN CYCLE USED, AND A SABBATH CYCLE 
STARTING AT HIGHNOON ACCOUNTS FOR 4666 YEARS.

FOR THE SUCCESS IN THE ASSASSINATION OF JULIUS CAESAR, IT WOULD HAVE TO HAVE BEEN DONE 
ON MARCH 27,44BC. AT 12:09AM WITH 11.264 DAYS BEYOND THE NEW YEAR RITUAL; THE WAR EQUATION 
FOR THE FIRST­BORN EQUATION AND THE 5 CYCLE OF THE

THE WAR NUMBER FROM THE TIME SERPENT. THE 2ND. MOON 1/4 QUARTER .

THE ASSASSINATION OF JULIUS CAESAR WAS NOT SUCCESSFUL, BECAUSE ONE OF THE REASONS JULIUS 
CAESAR WAS ASSASINATED BY THE ROMAN EMPIRE, WAS BECAUSE HE FORCED THE ROMAN EMPIRE TO 
HONOR A TRIBAL TREATY OVER 1000 YEARS OLD. THIS WAS WITH THE KLEOPATRIA WHTTE TRIBE.

THE KLEOPATRIA WHITE TRIBE HONORED JULIUS CAESARS DEATH BY DOING A TRIBAL RITUAL WHICH 
CAUSED THE SUN TO BECOME PALE AND NOT GIVES IT ~ LIGHT FOR A FULL YEAR WHERE CROPS COULD 
NOT RIPEN, SO THERE WAS A MAJOR CATASTROPHE THROUGHOUT THE WORLD BECAUSE THERE WAS NO 
FOOD.

THIS. REFERENCE CAN BE FOUND IN:(PLUTARCH, IN JUL.CAES.CAP.87; DIO VIRG.GEORG._I.,P.466)

A COPY OF ‘THIS TREATY CAN BE SEEN WHICH SITS IN CENTRAL PARK', NEW YORK

AND IS CALLED­ CLEOPATRIAS NEEDLE.

THIS IS A WHITE TRIBAL TREATY TO BE VIEWED BY MEMBERS OF THE WHITE RACE.

BREAK IN 60 1.


